3/1/2021 ClassMarker - Manage Test

Question 10 Generic Parent » Stuwlwl hwng 1 pt

Jwng 10: NLE@-nLd gnjnLeynl nLuh ynpu inGuwyh hhdp® U, 8, @ W N, huy Yu@-nd* U, 8, Q, W @:
hué hGunwpnpntg, RE husnL rhuhup (T) Ywpnn £ Jhwju ogunwgnpdyt Yule-nid, W nwnpnieiniu
nwnantigh hhuptinh qnygtinh wwwnytipht (Adwwwwnytn 1).

Swnnpnynwd £, np Escherichia coli-h* npnawyh gGunid Uncinwghw nctutignn 2unwiddp hhdptp
wybjugutihu phuhuh nbnnud Gpptdu UGpwenud £ dUTP YU(6-h 2npwinid @ Uw hwéwh hwugtgunwd
E Unp Uncinwghwih: 2hdhwih nwuwfununipjwl dwdwlwy Gu unynptgh, np UinLebpp, npnup
Swnuwjnid BU hpplLwgnuwihu hhdp, Gurpwnpyynid U phdhwywu thnthnpunientlubph
(glhuwynpwwbu® hhnpnihnhy

ntquuhbwgdwl) Uniyuhuy in vivo wwjdwuubnnd:

nkqopuhnhpnq

":<N_H - "@ Dhpng Yl

s N .os H—N \ H—] \
Ay
{ Nn) £ Xn)
Unkithh Phdpl Mipmghy
Q.owuunlytin |

ok p, Pb Ghwliywy whnpnifubphy npp Jund npelip Bu Ahgun:

v" A) NUM—-h hhuptph hn uwwnwnynn phuhwywl thnthnfunieynibutpp 65U Gupwpyynid
nGwywpwghwyh:

v' B) 8hunghUwjhu hhuptpnid h hwjwn Gynn phuhwywl thnthnfunieyncllnp hhduwyw
wwwndwnU GU wju pwuh, np phuhbwjhu hhuptpp hwunhwnid GU Jhwju YL@-nLd:

C) A-T hhuptiph gnygp wybih U6s hwjwlwywunipjwdp £ Gupwpyyned Uncinwghwutph
E. coli-h UnLinwuwn 2unnwdduGnpned, npnup rhuhUh thnfuwnBu UGpwnenwd BU nLpwighy:

D) E. coli UnLinwuwn pghoutipp, npnup YLfe-h Yuaunid wwpniuwynd GU nLpwighy, wn
hhupGpnid wnwdt) qgwjntu U phuhwlywl thnthnfunteynctluGph Uywwndwdp.
hGwnlwpwpn, Unp wnwowgnn Untinwghwutpp hwawhuwyh Gu:

Question Type: Multiple Response

Randomize Answers: No

Grade style: Partial - points removed for incorrect answers
Date Added: Sat 20th Feb 2021

Last Modified: Sun 21st Feb 2021

QID#: 26,481,739
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Question 11 Generic Parent » Stuwlwl hwng 1 pt

Rwng 11: Epbip dwnwlgwlwl hwwnywuhautph (Alfa, Baker, W Charlie) tnnhdwjhu
nruncdbwuhpnepniup Yuwnwnyt) B hwdwwywwnwuhuwlwpwn ninhdwdwntn A-h, B-h W C-h dpw, W
unwgyt) Bu gdwwwwnytn 1-nd wnyw wpryntupltnp:

RGnwaquw dwupwdwul hGwnwagnuntenLtbutpp gnig tndtghu, nnp pninn Gptip hwnywuhautph
dwnwlgUwl wywwnybputnp ntgbuhy wnwinnund dwnwlgdwl wnprynitup Gu:

<Family A> D‘.
Al A2
wnwdwpn - Yphu
D—ﬂﬂ—.
A3 | a4 A5 A6 A7 | A8 ] O 3unbuih s
. . Unyw hwwinywlh
<; o E ; l l
A9 A10 Af1 A12 A13 Ai4
<Family B> D‘. <Family C> I:F*.
B1 B2 ci c2

PRSP St A

B9 B10 B11 B12 B13 B14 C9 c10 C11 ci2 Cci3 ci4

.
.

Qdwyunlytip 1

VUgk p, Bb Lhwliyw) whnpniifubphy npp wd npelp B fhgu:
A) Snhdwbdwn A-h nuntdUuwuhpnieynill gnyg £ wwihu, np Alfa hwwnwuh2h

dwnuwugntUp wnbnh £ nluGuncd nndhbuwuwn with dhgngny:

v' B) Snhdwswn C-h nLuncduwuhpnipnill gnig £ twihu, np Charlie hwwnlwuhoh
dwnuwugnidp wnbnh E nluGuncd nndhbwuwn wiGh dhgngny:

v C) B punwlhph B1 W B3 wunwdutpp Ypnnltin bu:

D) C puwnwuhph C1 W C3 wunwdutpp Ypnnutp Gu:

Question Type: Multiple Response

Randomize Answers: No

Grade style: Partial - points removed for incorrect answers

Date Added: Sat 20th Feb 2021

Last Modified: N/A

QID#: 26,481,765
Question 12 Generic Parent » Stuwlwl hwng 1 pt

3wng 12: Escherichia coli-nLJ rutA-G qtutinh funcdpp wywmhywunwd £, Gpp whphdhnhUp pwjpwyyned £
W oquwgnpsynid npwytiu wgnunh winpjnun: rutA-G qtubpp Yuagunod GU rut owytpnup, W

Pyt ynnununtbpp Ywpguwynpnud £ npw EpuwpGuhwu: Py wnndnuintnh EpuwynGuhwu yuwngwdnpyned
E RutR nGwpGunpny, npp npwGu hunnctyuinp ogunwgnpdnid £ nLpwigh:
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3/1/2021 ClassMarker - Manage Test

A) Ncpwghth YnugBunpwghwih JGdwdwl hGwn dGywntn rut owbpnuh EpuwynGuhwl
renLwuntd E:

¥ B) bpp RutR ntwnptunpnud dniinwghw £ wnwwlnud W npw uliwdwygnieniup
ncpwghth Uywundwdp thnppwuncd E, rut owyGpnuh EpuwpGuhwU pnywlncd E:

v C) bpt RutR ntwnbunph® LGB uwwnn nnutuncd wnwgwlnud £ dninwghw, W npuitincd
AUM3-h hwgnpnwywunipjwl hwunbw ubwdwynieniup thnppwunwd £, www rut
owtnpnuh EpuwynptGuhwl nLdGnuwiuncd E:

D) Gpp owbpwwnph UnLyEnunhnuwihu hwenpnwywunicejntuncd (nphu Jhwunwd £ RutR
nGwnGunnpp Pyt —h Yuagunwd) inbnh E ntuBUnwd Untinwighw, rut owGpnuh EpuwnpGuhw
Uhown nudtinwiuncd E:

Question Type: Multiple Response

Randomize Answers: No

Grade style: Partial - points removed for incorrect answers

Date Added: Sat 20th Feb 2021

Last Modified: Tue 23rd Feb 2021

QID#: 26,481,794
Question 13 Generic Parent » Stuwlwl hwng

3wng 13: Pwywnbphwutnp giutph EpuwpGuhwl Yuwpgwynpnud U tnpwluyphwghwih $wynnputph
Uhgngny, nnnup puywintd BU Uhpwwinh wywjdwuutph thnthnfuntejntuutpp, npwtugh hwpdwnytu
wlpunhwwn thnthnfuynn vhpwdwjphu: UGY Swyninpp hwowhu upgwydnpnud E pwqdwehy gbutn:
Lwuh np gtubph Epuwyptuhwl ELEpquinnwin £, Epuwptuhwih Bupwnyynn geutph fudph
puwnpnieintup Yuwplnp £ pwynGphwih gnjunldwl uinpwnGghwih hwdwp: 3wbwhu Ujwwndnud E,
nn onpwihu Jhowdwynned pwywnGphwltpp Ghwunniu Yepwny 2wndynwd GU ulunwuynietn gulbin
hwduwn, uhugntn Yebuw2tpunnwd (phndhid) npwlp hwgywnbw Gu 2wpdyned:

Uk p, @b Lhwnbiyw) wlnnuifubphyg npp fuad npelp Bb Ahgun:
v A) 9QynLyng ogunwgnpénn gtLLGNh Epuwptupwl fupwlnn tipwluynhwhuwgh
Hwlwnnpubpp dugnud BU jwywnngh UGwnwpnihy qGutph EpuwynGupwl:

B) Ynudwwnlbph pwlwynrejwl fuhun Lywquwl dwdwlwy wynmhywgnn $wynnputpp
wywnhywguntd BU glhyngblu oginwgnndnn gtutinh EpuwnpGuhwu:

C) BwpwuwrpepnLlbph UGnwpnhy qGUbph EpuwynpGuhwl wynhdwgunn $wynnputpp
punhwunip wndwdp wynhywunwd BU prywduh wupwdwnpwpniejwl wywjdwllGpned:

v’ D) Ubluwotpwn wnwowglnn qtutph Epuwpbuhwl wywnhdwgunn $wywnnputpp
hhJduwlwuntd gu2nid BU Uinpwyp élewdnpnn gGUBPh EpuwnpGuhwl:

Question Type: Multiple Response

Randomize Answers: No

Grade style: Partial - points removed for incorrect answers
Date Added: Sat 20th Feb 2021

Last Modified: N/A

QID#: 26,482,120
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Question 14 Generic Parent » Stuwlwl hwng 1 pt

3wng 14: YL(3-h nuntdUwuhpniintlutph wnwehuwnwgdwl htwn JGywntn 2w inGhulninghwuGp
GU qupquwgtb], W Yuplnp E nupéb puunpt) nuncdUwuhpnepywl hwdwwwwnwufuwl JGennutn
gwuywih wpryntup unwlwint hwdwp: Lwhuwwbu swunpwuwiny M1-hg M7 JUGrennutph hGwn®
Jupnwgt’p unnple ptipdws wunnwdubipp, npnughg jnupwpwlynupp yepwpbpyned £ thwlwagdtpnud
UpJwd dtpnnhl: ek p, Pb wyg whnpniifubphy npp Gud npnlp Bl Ahgu:

NLuntduwuhpniejwUu UGennutp
(M1) Yufa uhynnghuy

(M2) Pwuwywywu RT-PCR

(M3) CRISPR-Cas9 utipnn

(M4) In situ hhpphnwgntd

(M5) NGwpnnnLyuinhy Yinbwynpned
(M8) iPS pooh uintndnLd

(M7) UtuinwgBunuhy ncuncduwuhpneeyniu

¥ A) Nuuncduwuhpbine hwdwn wjt inGnwdwup, npinkn npnawyh gbb dywt hjncujwspnid
GupwnyYnLd Epuwptuhwih, wtwp £ hpwywuwglt) (M4):

v' B) RhuynL tnbplutpnd npnowyh gbuh Epuwyntuhwih nudqunieyniup nLuntdbwuhpbine
hwdwp wbwnp £ hpwhwuwlb (M2):

v' C) Bacillus subtilis-h gtununid wjuwhuh gbutiph npnuncd, npnlg Epuwpbuhwl
hwpnigynwd E, Gpp wgnuinh winpynpp uwjwnyned £ (M1):

v’ D) Quut| W dwlwyk| wnph UG pwnpgwywénn dwupEutph tinGuwyutGpp (M7):

Question Type: Multiple Response

Randomize Answers: No

Grade style: Partial - points removed for incorrect answers

Date Added: Sat 20th Feb 2021

Last Modified: N/A

QID#: 26,482,353
Question 15 Generic Parent » Stuwlwl hwng 1 pt

Swng 15: Anyubph utpdbph &inLdp hhdbwywunwd Ywngwynpyned £ Gpyne pncuwwu hnpdnuutpp®
ghpGnihuh W wpughuwperyh gnpdnlutnLpjwl Uhgngny: GhpGnihup fupwuncd E §inwdp, huy
wpughuwppnLU® 6uancd: Wu hnpdnUutbph gnpdncutinLejwl 2unphhy pnLuwywt ubpdtpp
Ywpgwdnnyned GU wjlwtu, nn dintdp hwpnigyh hwdwwwunwufuwl wywjdwluGpned:

Pnyutpnud ghptpyghup upupbqunid £ gGpwuhi-gGpwuni-nhdnudwn Ynsynn Unitynehg: QGpwuhi-

qbpwuh-nhdnudwnp thnfuwybpwned £ ent-4wnipBuh ent-ywnipbU-uhuptunwg tndtunh

2unphhy: ent-Ywnptup-Uu wjunthGunle thnfuwyGpwynud E ghpbpihuh Jh 2wpp $EpdGunutnh

wfuwwinwlph dhgngny (on.* GA20 opuhnuwq): YeluwuhUprtgh Uhpwuyjwi Uncpbpp, huswbu,
https://www.classmarker.com/a//tests/test/?test_id=1674496 12/48
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onhuwy, ent-ywniptlp, 6wl ypw wanbgnipnil snilibl: (Qdwwwwnytn 1)

UjnLu Ynnuhg, wpughuwprenLu uhUrbqynid £ Ywpninhunhn whguBuwnutphg: UpughuwpenLu
thnhuwyGpwyned E 8-hhnnpopuhwpughuwperiyh CYP707A Unsynn opuhnwah Uhgngny: Arabidopsis
UnLinwuwinutph ubpdtpp, npnup ncutu CYP707A Ynnwynpnn gtuh wwywu, ggwihnptUu wytih nw Gu
5ind pwu uwph inhwh ubputpp: Fwgh wyn, uGpdtpned, npnugnud CYP707A-h qGUh EpuwypGupwu
swthhg nnLpu nudtin £, §inwdp wnbinh £ nluBuncd wytih 2newn, pwl Jujph lned:

Atpwuhr-gbpwlhEnhdnuduwn ‘ ‘ UpughuwpeenL ‘

(&uznLd £ opnLdp)

ent-ywnupBU-uhbpbuwg L wiu ’
' CYP707A
ent-ywnLptl

[ GA20 opuhnjwg W wyju ]

‘ 8-hhnpopupwpugnnuppne ‘

(fupwunLd £ 5jnLun) ‘l»bulu]mml]lip 1

gk p, Bb Ll whnpnifubphy npp G npelip B fhgu:

v A)  Uncinwlwnnud, npnud puguwiyuynud £ ent-ywniptU-uhlpwah gbUp, incdp Junh dlh
htwn hwdGdwwnwd npwgwd E:

v’ B) bpp ent-kaurene uhUpwah qtluhg gniply Uncinwuinhu wytjugyh ent-yuniptl, sinwdp
Uhupwliyh:

C) GA20-opuhnwq Ynnwdnpnn gtuhg gnLpy Untinwuwnhu ent-ywnipBu wyGjuguthu
&|nudp fupwlyned E:

D) 8'-hhnpopuhwpughuweenil djJUwl ynw wnwyb) ntdtn wpgbjwyhy wgntgniejniu nLup,
pwU wpughuwreenLU:

Question Type: Multiple Response
Randomize Answers: No
Grade style: Partial - points removed for incorrect answers
Date Added: Sat 20th Feb 2021
Last Modified: Sun 21st Feb 2021
QID#: 26,482,473
Question 1 6 Generic Parent » Stuwlwl hwpg 1pt

Swng 16: 8nyg £ innpdwd wypninbhuh Epuwyptuhwih hwdwn bwhuwnbuyws A ysyunnph
hwonpnwywuntejwu Jh hwundwdp (oginwgnndtiind Escherichia coli-hu npwu wnbp): LwhuwwnGuynid
Ep dGYywnnn A-U oqunwgnndt| pnyuhg unnwgdwd X gbup Epuwypbuhwih GupwnyGint hwdwn: YG6hwnnn
A-U wwaguhnwjhu y&yinnnp £ npp EpuwpGuhwh £ Gupwnyncd N-dwjnpwjhu His-whwnwy-hu Yuwywd
uwhwnwyncghu, hust £ huwpwynp E nwnpdunwd EpuwptGuhwih Gupwnywd uwyhwnwynigh
wpnyntlwybwn qunnedp: buswtiu gnyg £ npdwé gdswwwinytn 1-nud, uwhwnwynigh inpuwtiugwghwu
uyuynud E unnwpun Ynnnuhg, wudhpwwbu His-wyhunwyhg wnwy (wwpniuwynwd £ 6 hwgnpnwywu
His duwgnpn): X gbuh 5" L 3 2npwulibph YUIG hwenpnwlywunieintulbpp gnuyg BU tnpdwd
gdwwwwnytp 2-nLU:

Ublp Lwhiwwnbub) Bup yeywnnn A-h db Yinbwynnt) X gbup® oginwagnpsdtiing nGutnnphyunwquihl
dbpdtLinutph hwindwsutp® EcoRl, Smal, ywu Sall: Gpp X gbup wdwhdhywgynid £ NTSN-ny,
Swyphu nEunphyinwquwihb hwwndwsd ntutgnn hwenpnwywunypniup Ywnnn £ wdwihdhywgyti

https://www.classmarker.com/a//tests/test/?test_id=1674496 13/48
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oquytiny nGunphyunwaquiht hwinygwsdp wwpnibwynn wpuwydepnd: 2wuh np Yunpdnn $pdsunwhu
hwwndwslbpp s6U dwlwsyned, Greb gunudnid BU 2npwh dwypwdwuntd, 3 hwwn C wdbjugyned BU wyn
hwwndwsutphu. ophuwy® EcoRI-h hwwinygwdp uybjugyh 5-XXXXXXXXXX---- -hu, huswbu gnyg £
npwd unnple. 5’-CCCGAATTCXXXXXXXXXX----:

Start codon His tag

—=- ATA CAT GCA kAT CAC CAC CAC CAT CAC |TCC GCG GCT CTT GAA GTC CTC TTT CAG GGA
——— TAT GTA TAC GCA GTA GTG GTG GTG GTA GTG AGG CGC CGA GAA CTT CAG GAG AAA GTC CCT

CCC GGG TAC CAG GAT CCG AAT TCT GTA CAG GCC TTG GCG CGC CCG ACG TCC GTC GAC AAG CTT---

GGG CCC ATG GTC CTA GGC TTA AGA CAT GTC CGG AAC CGC GCG GGC TGC AGG CAG CTG TTC GAA——-
Smal EcoRI Sall HindII

Aswwwwnlkn 1. deh4wnnp A-h Yinbwynpynn hwndwsdh hwenpnwlwunipyniup

Start codon

-AAG TTA TTG AGC AAT AGT CTA ATG TTC CTT CCT CTG CTG GCT TTG GCT =—---

TAC TTC AAT AAC TCG TTA TCA GAT TAC AAG GAA GGA GAG GAC CGA AAC CGA ---

-=-- TCT TCC TTC CTC AAG GGA ACA CTG CAC CAT CCA TCA TAT GCT TCG TCT
--- AGA AGG AAG GAG TTC CCT TGT GAC GTG GTA GGT AGT ATA CGA AGC AGA ACT

Stop codon

Qowuwwwnltbn 2. X gbuh LG hwgnpnwywuneinlup 1566 hhuuwjhu gnuyg

Uk p, b Ghwnbiyw) wlnniifubphy npp Guad npelip Bb Ahgn:

A) Unwepupwg wpwidtn (4-pn Gnjwyh ATG-U unnwnun Ynnnuu E).
5'-CCC GAATTC ATG AAG TTATTG AGC AAT A -3
EcoRI hwunjwd

v' B) Unweplpwg wpwjutn (4-pn Gnjwyh ATG-U utnwpun YnnnUl b).
5'- CCC CCC GGG ATG AAG TTATTG AGC AAT A-3'
Smal hwwnywd

v C) Awlwnwnad wpwydtn (4-pn Grywyh TCA-U unny YnnnLl £).
5'-CCC GTC GAC TCA AGA CGA AGC ATATGAT-3' 62
Sall hwwndwd

D) Rwywnwpé wypwydtn (Yapghu Gryjuyh ACT-U unnnwy Ynnnuu E)
5'-CCC AAG CTT GTA GGT AGT ATA CGA AGC AGA ACT -3'

Hindlll hwuindwb
Question Type: Multiple Response
Randomize Answers: No
Grade style: Partial - points removed for incorrect answers
Date Added: Sat 20th Feb 2021
Last Modified: Tue 23rd Feb 2021
QID#: 26,482,575
Question 17 Generic Parent » Stuwlwl hwing 1 pt

3wng 17: Ybpghu nmwphubphu yEuuwpwlwlwu ncuncduwuhpnepynillGpned jwiju tnwpwéncd £
uwnuwghb| gEundwhu hudhubphwih dh inbhuuninghw® CRISPR-Cas9 dtennp: Wu utpnnnid Cas9
PEpdEUIp, wnwpwglbiny Yndwtpu ntnbyhg NLIG-h hbw (rhpwiu gGuh Uh hwwndwshu
YnuwGUtuwnwn), nunnynid £ nGwh ehpwtu gtup, wjunchGunle Yupned E phpwhu gbup Gpyonew YLG-
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U: Cas9-p dwlwsnud £ 3 hhdphg YwaquJwd hwenpnwywunieintt (NGG), npp Ynsdnid £ PAM
hwonpnwywunteintl, W ynpned £ Yufe-h wywpnypp PAM-hg 3-4 hhdp nbwh 4&p: YL6-h Yuipdwd
onprwU yepwywuguynid £ YU@-h bpwlwuqudw® nEwwpwghwih hwdwywnagny, pwg win
pupwgpnLd hwéwfu nbnh E nlubuncd Uh pwith hhdph nGltghw Yuwd huubGpghw:

CRISPR-Cas9 utpnnn yhpwnyt) £ phpwhiwynptbing npn2wyh ysunwune A $tpdtunnh gbup
wdtlwytnhl Eygnuh unnwpwun Ynnnuhu dnuin ginudnn inGnwdwup: QGnp pGpdwd 4 Uninwuwnltph
rhpwhu 2npwuh hwenpnuwywunipniultpp pGpdwé BU unnple (Qdwwwwnytn 1):

TA TCT TAC ATG ATC CTA CAA GTA CCT TAC GCT|CGG |CAG GAA G
Lwhilwlywl hwgnnpn. — -

UnLunwiin 1 TAT CTT ACA TGA TCC TAC AAG TAC CTT ACA GCTCAG GAA G
Unuinwlin 2 TAT CTT ACA TGA TCC TAC AAG TAC CTT GCT| CGG|CAG GAA G
Ununuiin 3 TA TCT TAC ATG ATC CTA CAA GTA CCT GCT |CGG |CAG GAA G

Ununulin4 TA TCT TAC ATG ATC CTA CAA GTA CCT TAA CTC GCT [CGG |CAG GAA G

[} Pam hwenpnwywlnip)niu
Uwnwnw Ynnnlu: ATG (pungsywsd)

Uuwnnw Ynnnl: TAA, TAG, TGA

Qdwuwwnybn 1

‘bzhl Py BB Lhwlipw) wlnpniifubphyg npp Guad npelip Bu Bhouwn:
A) Yw Jts hwjwuwywunipniu, np A $tpdtuinh wynhynieiniup Uncinwlwn 1-h dnwin
wwhwwuywd E:

B) Lw Uts hwjwlwywlunipniu, np A $Epdtunh wynhynipyniup Uncinwitinn 2-h dnwn
wwhwwuyws E:

v" C) 3uwpwynp £, np A $bpdtlnh wyinhynipgniup Untinwlin 3-h dnun wwhwwlgws E:

D) Yw Uts hwjwuwlwuncpnil, np A $Epdtunh wynhynipinitup Uncinwitnn 4-h dnun

wluhGunwgt) E:
Question Type: Multiple Response
Randomize Answers: No
Grade style: Full points if all answers are correct
Date Added: Sat 20th Feb 2021
Last Modified: N/A
QID#: 26,482,661
Question 18 Generic Parent » Stuwlwl hwing 1 pt

3wpng 18: E. coli-h imnphwywnndwlwihu owytipnup (trp owbpnu) Gupwnyynid £ tnpwluynphwghnu
Yuwpgwynpdwl Uh nwntunpny, npu wywnhywuncd £ iiphwunndwlhl Yuwybihu: NEwptunph
wywinhy élp Yuwwdnid E wypndnuintph W tnpwituyphwghwih hwnpnigdwu YGwnh vhole guinuynn
owGpwwnnn hwenpnwywuntpjuwup W wpgGuynwd NLG wnihdGpwgh wywnhyngegniup: Yw bwl
EpuwnGuhwjh jupguynpdwl JGY wy| hwdwywng, npp Yngyned E quuhy W Yuwwywé E trp owGpnup
wnpwuuynhwghwih W itnpwluywghwyh hGun:

Owbpwunnp hwgnpnwywunigjw W trp owytpnuh wnwehl Ywrnigywdpwihl qtup® trpE-h Uhpl Y
Uh pwuh hhuphg pwnywgwd snpu hwenpnuwywuncenilu, npnup hwdwpwywyws tu 1-4 (NGghnu 1-
4, Qdwwwwytn 1). NGghnu 1-p W nGghnu 2-p YndwGdGuwnwn Bu hdjwug, huswtu nGghnu 3-p W
ntghnu 4-p* UGyp UjnLuphU: Gpp wju hwinydwsubnp inpwuuynhwghwih Gu Gupwnyynid npwtu hNLe,
Upwlp gnygynid GU Uhdjwlg hGun W wnwwgunid «gnnniu W onwy» inhwh (stem-loop)
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Ywnnigdwdplbn (Qswwwwnytp 2): UdGhu, ntghnl 2-p W ntghnu 3-p Lu YndwGutbnwn Gu W
Ywpnn BU wnwywglt) hpblug «gnnniLu-onwiy» wnnigwdpp: Unwelunpnnn wtwunhnp 14
wuhlwppyhg (wn pUnLd® 2 nphwunndwlihg) punlugwsd Yuns wuinhn £, npp ynnwynpnn
hwonpnwywuntpintup UGpwnenud £ nGghnu 1-p (Sdwwwwnytp 1):

Unwiglnpnnn wuinhn

% (et LysX ata) e Yphe) Val LeulLys{Giy )T Trp (arg T Ser)
< 4CAAUGAAAGCAAUUUUCGUACUGAAA GGUUGGUGGCGCACUUCCIIETYY ]~ %)
Unwglnpnnn hwgnpnuluwlnLginiu %
T
_nanu3 | S

clewelciTolelo] WWAGACUAACGAAAUG 'GUACCACUUAUG\}

|

>
O GGGCINIINITUGAACAAAAUUAGAGAAUAACA SUGCANACAR S

vy |
[ tpEDCBAmRNA |

Gymupunnijtip 1
NGghnu 1/NGghnu 2 yndwGutuwnwn, NGghnu 3/NEghnu 4° YndwGutuwnwn,
NGghnu 2/NGghnu 3° YndwGutuwnwn
Unwgpunpnnn hwenpnwywunueginiup (NGghnu 1) Ynnwynpnud £ inphwwnndwlwhu Gpync
Uuwgnpn (Trp) wwnniwynn und whwwnhn:

v

Gt trp owtpnuh hNLE-U tpwluywghwih sh Bupwnyynd wit Unyl wwhhu, Gpp bwle BupwnyYnLd
E tnpwuuyphwghwyh ML wnihuGpwagh Ynnuhg, www hMLB-h nbghnu 1-p W nbghnu 2-p, huswGu
Uwl nEghnU 3-p W nbghnu 4-p gnygyncd BUY jnLpupwuynipl wnwewgubiny «gnnnlu-hwlgnyg»
JunnigJwdp: NGghnu 4-hg wudhgwwtbu hGunn gunudned GU snpu hwenpnwywu U hhdptGp: 2wuh np
Gnwywith Ywnnigywbdpp, nnned U hhdptipnp wudhpwwtu hwenpnnid Bu «gnnniLu-onwyhu»
hwunhuwuntd £ mpwuuyphwghwih juwugubgdwu Upwl, wwyw uw hwugbgunid £ NLG wnihdGpwgh
wlpwndwup W tnpwluyphwghwih punhwwndwup (SSwwwwnytn 2):
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Gnp wnwelnpnnn hwenpnuywuntpjwl wnpwluywghwl Juwnwnyned E Unyu wywhhl, huy hALG-

h tnpwluyphwghwu, nhpnundp Ywpnn E tnpwluywghwyh Gupwnyt| hMu@-u «gnnnLu-onwyny», pwjg
nnpwluynhwghwt Unyuwtu wywnuyned E' wnwewgubiny «gnnnilu-onwy» ntghnu 3-h W ntghnU 4-h
Ynw: Uwluwjt wju nGwptnned, Gpp tnhwyunndwlp wwlwunid E, Gpywp dwdwuwy £ ywhwugyned
uygpUwdwuh Trp Ynnnuutpp (pwgubine hwdwp, W nhpnundp dwdwuwywynpwwtu juugquwd Juncd
E nGghnu 1-nwd: Wu pupwgpencd Unp tinpwuuyphwghwih Gupwnyynn hNLE-U Yanygdh ntghnu 2-h
W ntghnu 3-h hwwnduwsnid® «gnnniLu-onwy» wnwewglbiny: Wu ntwpnid, pwlh np nkghnu 4-p sh
gnujgyntd, inpwbiuyphwghwih nwnwph wanwlzwup sh dlewydnpdned, W LG wnihutpwan
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